Lésungen Gemischte Ubungen:

5 , 1 1, 221 13 , 11 5
zuay———(By-5Q -——4-—— —5 NGE-2y)+—1>=(1-y) +—p(=y+1)>, G=Z
) 144(y ) 3( 2y) 230 Sy-9(G5-2y) 4y (I-y) 4y(2y )
221 13 , 11 5
-—(3y-5 ——4—— 5y =-9)5-2y)+—y =(1-y) +—p(—y+1
144( ) —=( y)? 480( y=9)(5-2y) i yi=(1-y) 4y(2y )

5 5 5 1 1 ,. 221 5 13 ,
——= (27> =135y2 +225y-125)——(16 -4y +—?) + ==—(25y-10y> —45+18y) +—y° =
144( y y y ) 3( y 4y) 480( y—10y ¥) el

11
=(1-3y+3y° —y3)+zy(zy2 +y+1)

15 5 75, 125 625 16 4 1, 1105 221 , 663 663 13 .
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Algebra

< 1 1 1
=1-3y+3 +—y +—=y +—
y+3y' =y’ 16 4y 4y
~1350y° +6750y” —11250y + 6250 — 7680 +1920y —120y° +16575y —
= —6630y° —29835+11934y +4680y° =
=1440-4320y +4320y> —1440y° +90y° +360y° +360y
< —1350y° +4680y% +19179y —31265=—1350y° + 4680y —3960y +1440  |+1350y° —4680y°
P 19179y —31265=-3960y +1440 |+3960y
= 23139y -31265=1440 |+31265
= 23139y =32705 | +23139
32705 32705
= — S -
23139 23139
= L={}
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by —%[x—0,3(2x—7)2 —2x(3x+§)2 —%]—(Sx—Z)z =i(x+3)2 +27x° +21,55x* +7,05x , G=@

f—

—%[x—0,3(2x—7)2 —2x(3x+%)2 —%]—(5x—2)2 :%(x+3)2 +27x° +21,55x° +7,05x

—%[x—0,3(4x2 —28x+49)—2x(9x° +15x+27r5)—%]—(25x2 —20x+4)=
=%(x2 +6x+9)+27x> +21,55x* +7,05x
—%[x—l,sz +8,4x—14,7—18x —30x* —12,5x—0,2]-25x> +20x —4 =
:%xz +§x+2+27x3 +21,55x +7,05x
3

—5[—14,9—18)& ~31,2x> —3,1x] - 25x> + 20x — 4 =%x2 +%x+%+27x3 +21,55%% +7,05x

Algebra

& 2235+27x° +46,8x +4,65x—25x" +20x —4 =0,25x" +1,5x + 2,25+ 27x" +21,55x" +7,05x
2= 27x° +21,8x% +24,65x +18,35=8,55x+2,25+27x" +21,8x*>  |-27x’ —21,8x°
=S 24,65x+18,35=8,55x+2,25 | -8,55x

& 16,1x+18,35=2,25 |-18,35

N 16,1x =—-16,1 |+16,1

= x=-1 , —le@

= L={-1}

Cc) (z-D(2n—-1)=n(z—n) ,z€@Q Anel

(z-D(2n-1)=n(z—n)
2nz—z-2n+1=zn—n’ |—zn+2n-1
nz—z=2n-n’>-1

z(n—1)=—(n> —2n+1)

g ¢ 0 ¢

z(n=1)=—(n-1)?
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1. Fal: n=1 = 0-z=0 wahrV:ze@
= L=@Q

2.Fall: n#1l = z(n-)=—(n-1°> |+(®n-1)
= z=—(n-1)

= z=1-n

= L={1-nlne \ {0}}

d - = , z€@Q AnaeIR\{-1;1}
a+l a-1 a-1

2x _2a—6: X |-(a+1)a-1)
a+l a-1 a-1
= 2x(a—-1)—(2a—6)(a+1)=x(a+1)
& 2ax—2x-(2a’ +2a—-6a—6)=ax+x
= 2ax—2x-2a’ +4a+6=ax+x —ax—-x+2a’—4a—6
= ax—3x=2a’-4a-6
& x(a—3)=2(a* —2a-3)
& x(a-3)=2(a+1)(a-3)
1. Fall: a=3 = 0-x=0 wahr Vxe®@
L=@
2.Fall: a#3 = x(a-3)=2(a+1)(a-3) |+ (a-3)
< x=2(a+1)
= L={2(a+1)|ae IR\{-1;1;3}}
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e) (x—c)c+d)+(x—c—-2d)c—d)=2(d —c)(c—x) , Xe@Q Ac,del

(x—c)c+d)+(x—c—-2d)(c—d)=2(d —c)(c—x)
& cx+dx—c*—cd+cx—dx—c* +cd —2cd +2d* =2(cd —dx—c* +cx)
= 2cx—2¢> —2cd +2d* =2cd —2dx —2c* +2¢cx | -2ex+2c¢* —2cd
= —dcd +2d* = -2dx
& —2d(2c—d)=-2dx
1.Fal: d=0 = 0=0-x wahr V xe @
= L=@Q
2.Fal: d#0 = -2d(2c—-d)=-2dx | +(-2d)
= 2c—d=x
= L={2c—d|deZ\{0} ncel}
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